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El 70, 863, 774 8,811,461 14,242.4 8,811,461(14,242. 4 5,771,722 V771,722 9, 326. 3,039,739 65.5 | 100.0
| A i 593, 785
; = 71, 457, 559 8,811,461 14,242.4 8,811,461(14,242. 4 5,771,722 V771,722 9, 326. 3,039,739 65.5 | 100.0
% El 6, 554, 174 288, 623 86.0 288, 623 86.0 269, 578 269, 578 80. 19,045 93.4 99.7
®BOA i 15, 787
R = 6, 569, 961 288, 623 86.0 288, 623 86.0 269, 578 269, 578 80. 19,045 93.4 99.7
El 337, 681 21,171 66. 4 21,171 66. 4 21,173 21,173 66. -2 100.0 | 100.7
F 781 i
B = 337, 681 21,171 66. 4 21,171 66. 4 21,173 21,173 66. -2 100.0 | 100.7
El 77, 755, 629 121,255 2,123.7 9,121,255| 2,123.7 ,062, 473 ,062, 473 1,413 3,058,782| 66.5 99. 8
7 i 609, 572
= 78, 365, 201 121,255 2,123.7 9,121,255| 2,123.7 ,062, 473 ,062, 473 1,413 3,058,782|  66.5 99. 8
El 1,850, 761 33, 840 200. 8 33,840|  200.8 21, 624 21, 624 416. 12,216  63.9 30.8
# | A i 15, 697
= 1, 866, 458 33, 840 200. 8 33,840|  200.8 21, 624 21, 624 416. 12,216  63.9 30.8
\ El 50, 981, 224 , 470, 622 89.0 1,470, 622 89.0 , 316, 388 , 316, 388 77. 154,234]  89.5 | 102.5
ES A W 29, 209
en s | B 51,010, 433 , 470, 622 89.0 1,470, 622 89.0 , 316, 388 , 316, 388 77. 154,234]  89.5 | 102.5
- El 52, 831, 985 , 504, 462 90. 2 1,504, 462 90. 2 , 338,012 , 338,012 78.8 166,450] 88.9 | 101.8
t i 44, 906
= 52, 876, 891 , 504, 462 90. 2 1,504, 462 90. 2 , 338,012 , 338,012 78.8 166,450| 88.9 | 101.8
s R B 43, 424, 286 , 381,782 70. 4 2,381,782 70. 4 L 381,782 L 381,782 70. 4 0] 100.0 | 100.0
wE S %) ) 143, 685 10, 735 103.5 10,735 103.5 10, 735 10, 735 103.5 o[ 100.0 | 100.0
" e e 43,567, 971 392,517 70.5 2,392,517 70.5 392,517 392,517 70.5 0| 100.0 | 100.0
El 4,522,517 435, 403 101.7 435,403 101.7 239, 737 239, 737 110.3 195,666  55.1 50. 7
REPEHASL i 50, 876
= 4,573,393 435, 403 101.7 435,403 101.7 239, 737 239, 737 110.3 195,666  55.1 50. 7
E 1,953, 983 160, 351 96.7 160, 351 96.7 160, 078 160, 078 2, 473,013. 4 273 99.8 0.0
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= 1,953,984 160, 351 96.7 160, 351 96.7 160, 078 160, 078| 2, 473, 013. 273 99.8 0.0
El 787, 143 22,247 95. 4 22,247 95. 4 21, 481 21, 481 94, 766  96.6 97.1
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= 787, 144 22,247 95. 4 22,247 95. 4 21, 481 21, 481 94, 766  96.6 97.1
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El 17,941, 233 1,493, 445 98.9 1,493, 445 98.9 218, 428 218, 428 154.0 1,275,017 14.6 9.4
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= 17,941, 234 1,493, 445 98.9 1,493, 445 98.9 218, 428 218, 428 154.0 1,275,017 14.6 9,
El 1 2,323 0.0 2,323 0.0 885 885 17.2 1,438  38.1 0.
H # 8 OBL | W 58, 903
B = 58, 904 2,323 0.0 2,323 0.0 885 885 17.2 1,438  38.1 0.0
B 2, 296, 581 91, 261 | &2 91,261 | &4 327 327 | &4 90, 934 0.4
B | mureaem | 1
= 2,296, 582 91,261 |1 91,261 |1 327 327|851 90, 934 0.4
= E2 31,274, 004 31, 440, 065] & 42 31, 440, 065| & te 1,894 1,894 ] g 31, 438, 171 0.0
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B = 31, 274, 005 31, 440, 065 | &5 31, 440, 065 | &5 1,894 1, 894|851 31,438, 171 0.0
) 33,570, 586 31, 533, 649 99 2 31, 533, 649 99 2 3,106 3,106 60 2 31,530, 543 0.0 0.0
2t i 58,905
= 33, 629, 491 31,533, 649 99. 2 31,533, 649 99. 2 3,106 3,106 60. 2 31, 530, 543 0.0 0.0
El 2, 646
gL X B i3 1
= 2,647
El 1 278,792 | &5 278, 792| &5 13, 209 13, 209|512 265, 583 4.7
[ 7 & PE AL T 1
= 2 278,792 | &5 1 278, 792|518 13,209 13, 209|512 265, 583 4.7
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e
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e
El 232, 950, 836 46, 942,121 118.3 46, 942,121 118.3 10, 449, 041 10, 449, 041 176.9 36,493,080 22.3 14.9
& it 1 764, 265
(LA 4% A A ek 3 233,715, 101 46, 942, 121 118.3 46,942,121  118.3 10, 449, 041 10, 449, 041 176.9 36,493,080 22.3 14.9
BT 4E [ 4] B 228,717, 294 39, 694, 440 82.2 39, 694, 440 82.2 5,906, 713 5,906, 713 95.7 33,787,726] 14.9 12.8
BiT4E bt % 102.2 118.3 118.3 176.9 176.9 108.0
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k) 6,554,174 288, 623 86.0 288, 623 86.0 269,578 269, 578 80.5 19, 045 93.4 99.7
BOR OB W 15, 787
% il 9, 437, 343 288, 623 86.0 288, 623 86.0 269, 578 269, 578 80.5 19,045 93.4 99.7
k) 52, 808, 323 1,470, 622 89.0 1,470, 622 89.0 1,316, 388 1,316, 388 71.8 154,234 89.5 102.5
Ok OB W 29,870
e | 7 52838, 193 1,470, 622 89.0 1,470,622|  89.0 1,316,388 1,316, 388 77.8 154 234  89.5 | 102.5
A B 62,229, 059 1,759, 245 88.5 1,759, 245 88.5 1,585, 966 1,585, 966 78.2 173,279 90.2 102.0
B i 46,477
B 62,275, 536 1,759, 245 88.5 1,759, 245 88.5 1,585, 966 1,585, 966 78.8 173, 279 90.2 102.0
< BB >
k) 555, 952 55,433 100. 4 95, 433 100. 4 95, 433 0.0 0.0
| BEARREL | W
(V2tesa) B 555, 952 55, 433 100. 4 55, 433 100. 4 55, 433 0.0 0.0
k) 127, 057 6,208 93.9 6,208 93.9 4,321 4,321 105.9 1,887 69.6 61.7
M| EARRB | A
(ymE) | E 127,057 6, 208 93.9 6,208  93.9 4,321 4,321 105.9 1887| 69.6 | 61.7
k) 683, 009 61, 641 99.7 61, 641 99.7 4,321 4,321 105.9 57,320 7.0 6.6
i &l i
B 683, 009 61, 641 99.7 61, 641 99.7 4,321 4,321 105.9 57,320 7.0 6.6
BRFL B 52, 808, 323 1,470, 622 89.0 1,470, 622 89.0 1,316, 388 1,316, 388 71.8 154,234 89.5 102.5
ENFER | W 29,870
% il 52838, 193 1,470, 622 89.0 1,470, 622 89.0 1,316, 388 1,316, 388 71.8 154,234  89.5 102.5
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A ES VIR AYNE = o R
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B [EB B 618, 989 86.7 618, 989 86.7 601, 853 601, 853 70.8 17,136 97.2 119.1
M7 IR NRERIBL| W
3 618, 989 86.7 618, 989 86.7 601, 853 601, 853 70.8 17,136 97.2 119.1
k) 52, 808, 323 2,089, 611 88.3 2,089, 611 88.3 1,918, 241 1,918, 241 75.4 171,370 91.8 107.5
7 i 29,870
3 52,838,193 2,089, 611 88.3 2,089, 611 88.3 1,918, 241 1,918, 241 75.4 171,370 91.8 107.5




